
SAP ABAP table MCIKPF {CS: Physical Inventory Document - Header Segment}

MCIKPF

MANDT [CLNT (3)]

VGART [CHAR (2)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

SOBKZ [CHAR (1)]

T000

MANDT [CLNT (3)] MCIKPF-MANDT = T000-MANDT 0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]
 MCIKPF-LGORT = T001L-LGORT 0..N

{0,1} T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MCIKPF-WERKS = T001W-WERKS 
0..N{0,1}

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 MCIKPF-SOBKZ = T148-SOBKZ 

0..N

{0,1}

T158V

VGART [CHAR (2)]

 MCIKPF-VGART = T158V-VGART 

0..N

1


